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1.  Which of the following is not a component of

computer ?
A) Projector {Bg Input Unit
fC Storage Unit D) CPU

2. Which of the following set up on 1% August 1969
for exercising Superintendence and Control
over the Market Committees in the Haryana
State ?

(A) Haryana Agricultural Board (HAB)

(B) Haryana State Agricultural Board (HSAB)

(C) Haryana State Agricultural Marketing
Board (HSAMB)

(D) Haryana Silk and Marketing Board (HSMB)

3. By selling 12 oranges for a rupee, a man loses
20%. How many for a rupee must he sell to

gain 20% ?
(A) 5 5 (8) 10 OFie
(C) 8 (D) 15 CRA

4. Which of the following National Park not
situated in Haryana ?

(A) Sultanpur National Park
(B) Rajaji National Park
(C) Kalesar National Park
(D) None of the above
iti ice are shown below as
= E;vgn%o?;it;?%hgnas?):ci% at the bottom, what
number will be at the top ?
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(i) (ii) (® 2
© 4 © 1

6. The public enterprises like Indian Oil -
Corporation Limited and Steel Authority of
India Limited are the examples for
(A) Navaratnas (B) Maharatnas
(C) Miniratnas (D) None of the above

7. Between whom the Treaty of Villa Franca was
signed in 1859 ?
(A) France and Austria
(B) France and Italy
(C) italy and Austria

(D) Iltaly and Germany
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(A) S (B) g qf¥e
(C) Wi gfie (D) Hiig

g 9 A Ao afifid % srde stk

et & forg 1 svmer 1969 %1 Frefifaa .2

Rtz Y i 7

(A) sfamn sfimeae 91 (vau)

(B) ®ftamm w2 sifirsheset @1 (Tmumu)

(©) e Bz sifireata wrkfen aré
(TermaTHeE)

(D) & fies wwe wrkfen |l (vauaush)

UF F9U A 12 AWH F= F g OF Al F 20%

' T Bt B, 20% &1 A AR & foIT 38 T w9Y

# o a=A =fee ? ———
(A) 5 (B) 10
(C) 8 (D) 15 B

frafafiaa 3 ¥ FH-a1 T aH gfEmn # fRa
TR?

(A) Fearg TS ITH

_B) Tt U IuH

(C) TR U FaH

(D) I § & FHg T

frafafaa R i & emE () 3 i) AW E 1Ak
Free waE WA, T I e W HA-H Fem gt ?

..

(i) (i)

M) 5 | 2

(C) 4 O 1

vite S foftee Y TefH I ®
I E | -

A) TS AB)

:c))ﬁﬂra (D) Fee # & S T

. 1g50 i e S o it Rk A R ?

(A) ot SR A

(B) %@ M gTht

(C) seeht 3R e

(D)gzﬁﬁaﬂ'(irﬁ'-‘ﬁ
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8. A watch gains 6 minutes in one hour and was A @ o w2 § 6 fae amt < % ol g ' /
set right at 8 AM. What time will it show at 8 73 Hel ana A2 e s & | 77 9 3¢ R wm i’//y
6 P.M. on the same day ? 1 6 991 Fa R ? ; _ T/ﬂ
(A) 7:30 P.M. (B) 7 P.M. (A) T 7 30 7R @ Tm7E B
(C) 8:30P.M. (D) 8P.M. (C) Y™ 8 : 30 & (D) YT 8 & =2
9. The Haryana Police has launched a new 9. wfem gRr Y TE T WiwEEat ferTA a@= ‘f
software application, named . which foran B, Toraem A 2, <t gfem = aft f/
will allow the police to digitise and centralise all s fare #t fefoerss i Fa FA A 6 7
criminal records and quickly match the details 3"‘3“% 3 38R T ¥ N U FHFA e
of a suspect with a centralised database during . . /
an investigation. < % Ty O Eigy & feren g forem= =t | [ %
(A) Police Data Centralization System m Eﬁm s ﬁg?nﬁm fereem /S
(B) Police Data Analytics System (B) v 3o TTertea faveen e
(C) Police Data Digitization System () Ifm %ﬁ‘»\zrst%m faeen - 3
(D) Police Atificial Intelligence System (D) Tfera anfERefae et faeem Q
10. Inanexamitisrequiredtoget36%ofthemaximum | 10. T e & Il 2R & forg it 3 & .
marks to pass. A student got 113 marks and failed 367031%?[%1@%31'&1?3%113%%31‘!{33 1
(A) 1008 (B) 550 Y f (A) 1008 AB) 550 |
(C) 640 (D) 500 (C) 640 (D) 500 A |
11.  In which of the following cities, Haryana \‘{) 11. frafefaa § & fe TR 3 BREm TE@ER @ |
Government has planned to setup a National&/ F ot A frn 3 (. HLELE) Tofia A Y
Disease Control Centre (NCDC) ? A T 9 © 7
(A) Hisar (B) Gurugram { B (A) %GT( @) T %
(C) Ambala (D) Noneof the above | i (C) 1<t (D) Il # A o e b,
12.  In which of the following the Ganga Flood 12 Prefrfaa # @ wa T arg R S, v $
Control Commission, Patna was established ? ToTqAT <y TS ot ? (
(A) March 1971 (B) April 1955 (A) W 1971 (B) 1955 |\
(C) April 1972 (D) May 1996 r (C) 3t 1972 (D) = 1996 R
13. The 14" Non-Aligned Summit was held in/ \C\é 13. 144 tgﬁﬁa e qeiter el e
A T o |
(A) Havana (B) Delhi {SL A (A) T (®) fe=h AV /Jg
(C) Bangalore (D) Belgradqoj A (C) U LVB) E D "
14. The time taken by a student to reach his collegef 14. T& forenefi ®1 3H W FFrOS I A T ua'{lm :
vl from his house is 1 hour and 40 minutes. The 40 e @ & | e vd: 9 40TAYE |
){% ﬁ>ﬂ college starts ﬁu 9 ‘:1040 Au.thg. If 1rll}e sﬁ:x::g afe farendff et 1oﬁqzq3@q§am%,?ﬂﬂ'€
: reached the college 10 minutes ea ier, 2
Z ~ what time did he starts from his house ? = amﬁol aﬁl wel &P ©) ;7 407
(A) 8:00 AM. (B) 7:40 AM. niny 2. 45T DY VR:7 50 &
(C) 7:45AM. (D) 7:50 AM. (&) Fpmes oy N
ﬂ& 7 Whatisthetotal number of LeglslativeAssemblv 15, FdH ﬁ?m LR ™
/ (Vidhan Sabha) seats present in Haryana ? 95 ? 5
A) 90 (B) 95
ic)) 100 (D) None of the above (C) 100 (D) I # &
. F18
¢ 49 i 0 I ° 4o o
gn AT »

. 0
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16. There are 3 circles in the following question. |  16. foreferfiaa e & 3 9 § | 0B 9N 17g A
First circle indicates the area of wheat, second 1 guita R, QU TS AR A F Sy
for rice and the third indicates the area of gram. UG
Wheat a A C b a e
Gram i w1 %{5
The area of wheat, gram and rice indicates ﬂi, 1 3R =Ed F &9 # gyt @ m
N @c 48| e gl
(C) D (D) A e (C) D (D) A
17. A is a series of minor data security /17 w B TTeT GUaT ATHAY I TH e
attack that together result in a larger attack. £ 91w T w2 3w 3 fifora @i R |
(A) IPR violation (B) Phishing (A) sfom Feetad  (B) TR
(C) Doxing (D) Salami attack (C) it 4P) TaTHT ATHAT
18. In a mixture of 60 litres, the ratio of milk and [ 18. 60 ¥ ¥ uw fago # g R gH F AFIE
water is 2 :-1. If the ratio of milk and water isgo 012 | af2 gy i a1 I 1 - 2FHETE, A
be 1 : 2, then the amount of water in litres to be 3
further added is ﬂ?fégﬂaﬁa@qﬁﬂgﬂaﬁm
(A) 60 (B) 30 .
(C; 40 (D; 20 (C) 40 (D) 20
19. Which of the following Buffaloes varieties | 19. frefafiga # @ sfamon £ g 1 F-w R
(Breed) of Haryana also known as “Black Gold ‘N T SHTET W1 el STl 27
of India” ?
. ; LY (B) gt
A) Nagpur (B) Surti
Ec)) Nilig Ravi (D) Murrah (C) Hieht Tl )
n _ E
20. The voltage varies over a cycle varies as | A0- T °9sh ¥ deest Osts-a. %{1 V = Vsinat,
. T v -_V si
V = Vgsinot for 0515—0;. V = -V, sinot for 35152—“%%QV=-Vusinmt%mﬁqﬂaﬁﬂ
L 2% The average value of the voltage ® ®
EStEm!'Tea . S d | v T ¥ R A o elwa TH R
f e cycle is
or onV Y 2V, ® Vo i A
(A) 2 (B) & 2 n
2 V
Vo C) Zero ) 2
(C) Zero © 7 (©) P 7
21. are cold-blooded animals. 21 Free-AeE S )
P ithermous (A) dsReeiteE (B) Uiz
(A) Poikilothermous (B) Poitherm
itohermous (C) Ereiruta +0)
(C) Holothermous (D) Poitohe . P
: 22, YEgE 3 et Yeafh
22. Facebook was launched in the year , S R
as social networking service and websm_a, JTETE ¥ &g H A T, gﬁﬁ'f
founded by Mark Zuckerberg and few of his e ﬁwmmwmmmr
colleagues. — (A) 2010 (B) 2005
(A) 2010 (B) A 2004
(C) 2006 (D) 2004 (C) 2006 yiz)
F18 iy e
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23.

24,

25.

27.
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Blue tongue disease in Livestock is caused by |  23. g & fieft s (sepam) m foredh o dren 2 2
(A) Mycotoxins (B) Fungus (A) AR TR (B) #a®

(C) Bacteria (D) Virus (C) Aadifrn (D) arTE
Which of the following cities in India has topped | 24, Fr=rteifad o 4 s & feg am 9 Hify smam
in the NITI Aayog Sustainable Development vl fama e (wa 2 ) e i 31K
Goals (SDGs) Urban Index and Dashboard - ki
2021 -227 mzaznzzﬁ:rﬁﬁwnm%m%?

(A) Shimla (B) Coimbatore () ﬁ"ﬁ“ (B) =

(C) Mumbai (D) None of the above (C) Hor§ (D) 390 # & HrE 98

In Haryana, the Hathnikund Barrage situated 25, zfamniefrfigears 00 FAwfEmR
on the river

(A) Yamuna (B; Krishnavati 1K) TG (B) ot -

(C) Sutlej (D) None of the above (C) |ags (D) 3T | & 3 A
Mohan travels 7 km to the North direction | 26. wiea sl @er & ael & 7 fpemfier 3w A aic
Lr_om_ T}?eﬁ rtxﬁ is stlind:ng r?tn? turnsthto oo & 3% 918 g 3R g W@ 2 3l di

is right. He then walk straight for another frenfie Fer e

3 km and again turning to his right he moves 5 2 t :;; ;mﬁ o, s a 3:;
7 km. How many km away from starting point 7 Ttz s @ | 98 b b

is he ? e e g wm e 7

(A) 5 (B) 4 (A) 5 (B) 4

(C) 3 (D) 1 «) 3 (D) 1
Everybodyinaroomshakeshandwitheverybody | 27. T %t # Weish =afa sredsh A ¥ gy fireran
else. If the total number of handshakes is 66, 2 | 7R 66 ar By fiyemy Y, @ W & wfFE) A
the number of people in the room is e 2

(A) 14 (B) 12 (A) 14 8) 12

() 8 (D) 11 — 1 (D) 11

In which type the ovary occupies highest ) P e sy Ao W e T T
po;;ition on the thalamus(?B) o (A) e (B) wfufiefi

(A) Perigyny pigyny

() Hypogyny (D) Mesogyny (C) ErEfivh (D) #if

The five founders of NAM (Non-Align | 20 mePrdw sidem ¥ o e A
Movement) does not include i T R |

(A) Stalin of Russia \ )}ﬁ (A) Wa;e'f%"‘

(B) Nkrumah of Ghana WL- (& (B) =™ "5;'3

(C) Sukarno of Indonesia a1 - () TN S‘”ir el

(D) Josip Broz Tito of Yugoslavia \ (D) griveenferan & Sitférd 3 )

. ¢ 30. e el 35 v g A S I M
The relationship betweon inputs uSec andal\ Y . o< & gay @l ¥ A THI SR |
output produced by the firm is known as 4% ) g—
t relation 2 }>’ \ /< ik i

(A) Cost-output r . )\4:[{ .Y (B) e ) T

(B) Cost of production (C) -

(C) Cost function JEm @) I

(D) Production function F18

T g
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31.  Who wrote /ndica ? 3. RFFAGHEIAE?
(A) Vishakadatta (B) Huan Tsang (A) farwmEes (B) & |1
(C) Megasthanes (D) Kautilya (2) ATeets (D) =feea
32. What is the main objective of Haryana Nalka | 32. &R er o, 2021 F1 e @ FTE 7

Yojana, 2021 ? (A) el =il ) 7 1 I IYEred HAT

(A) Provide tap water to urban people e duferat

(B) Provide tap water to industrial estates in AB) TR LT

the State SR
(C) Provide tap water to rural people (C) Tftor SNt 26l et o1 AT I FTAT
(D) None of the above (D) 3w | & #ig el
33. __ systemisusedincomputernetworks | 33. @@ Aeadkd __ wonel 37

which allow different users to access the same ST 2 <t Fafir= SwETRalet # & @ deaE W
data and application programs on the same T 227 3N oA Y #  SIEid Fa e |
network. (A) Fed s sraifen faeen

(A) Muiti-processor operating system ... (B) TeA-TeR et fawen

(B) Multi-user operating system s?f?':-"-}_-: Srmfim sQfE faew

(C) Multi programming operating system 21?.-':1!%} L) wedt i

(D) Batch processing operating system (D) ¥ wrafém arifén fawem

34. GUI stands for 34, GUIFTIYR _
(A) Tkt g T

(A) Graphical Unique Interface

EggE (B) Graphical Universal Interface AB) mmm

"%h (C) Graph Use Interface (C) m!{i:fz{?}m [

(D) Graphical User Interface (D) TTFeFet I THA
35. The hypertext documents on the WWW are |  35. WWW | EETRHR TEs ER R
known as IATEAE |
(A) Web pages (B) Website &) ECA | (B) Y=aTER
(C) Home page (D) Hyperlinks (C) ¥m U (D) T
36 is a set of connections between |  36. ATAD mﬁiﬁqzaﬁf:;wﬁ ﬁaiﬂ;
two or more components/devices, which are FATIHE H T W R, Gﬁ A F Ud 8 & mﬁm
designed to transfer several/all bits of a word o /Mﬁ@ﬁmmﬁ%mm
from the source of the destination. TR -
(A) Processor (B) Memory (A) SrEE (8) —
(C) Bus (D) None of the above 4R) =W (D) =
37. The term ‘Blue Revolution’ is related to 37. ‘e wifa’ s fred aﬂﬁ: 27
(A) Aeronotics (B) Kerosene (A) m .{EB ; FRA
(C) Blue diamond (D) Fish (C) . LEL
i T f
28. The State of Haryana was constituted on 38. E(E?T:nm 195‘:”“'
(A) November 1* 1956 ) 1 i 1966
(B) November 1% 1966 ©) 1 5 1968
(C) November 11968 () Fasdad
(D) None of the above SL
F18 -6-
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39. In a certain code language '743' means
‘Mangoes are good', '657' means ‘Eat good
' food', ‘934’ means ‘Mangoes are riped'. Which

digit means ‘riped' in this language ?

(A) Can't say
(C) 9

(B) 4
(D) 5

40. Walking % of his usual speed a man is

10 mins late to workplace. The usual time
taken to cover that distance by the man is
(A) 8 mins 20 seconds (B) 50 mins

(C) 12 mins (D) 1 hour

41. The historical Sher Shah Suri Marg is called as
(A) NH-1 (B) NH-7

(C) NH-8 (D) NH-4

42, was a new initiative taken by the

Government of India in November 2016 to
tackle the problem of corruption, black money,
terrorism and circulation of fake currency in the

economy.
(A) e-banking
(C) Bank merging

(B) G.S.T.
(D) Demonetisation

How is my mother’s brother's only daughter
related to me ? .

(A) Niece (B) Sister

(C) Cousin (D) Aunt 5/
Complete the following analogy. ’é
BANISH : NASHIB : : HARPED : ?

(A) DEPRAH (B) RAEDPH

(C) ARHDEP (D) None of these
What annual payment will discharge a debt of
Rs. 580 due in 5 years the rate being 8% per

H annum ? S_Q

(A) Rs. 120

(C) Rs. 65.60

The United Nations Global Forum for Road
Traffic Safety has appreciated the initiative of
Haryana Police 10 reduce deaths and injuries
caused by road accidents on

(A) NH 907 (B) NH 44

(C) NH52

45.

(B) Rs. 100
(D) Rs. 166.40

J 46.

8/550 §r7)
s 7

5
78

39. foreht g2 v i 743 =1 Haw ‘Mangoes are

A good', ‘657" 1 Wdei™ ‘Eat good food', ‘934" &1
HASTE ‘Mangoes are riped’ | dt 3@ yTe1 & -1

1845
30 'riped’ 1 Twtar & 7
(A) =% ¥ gwa (B) 4
) 9 (D) 5

(D) NH 11 [

0. mem%mgﬁﬁm
7 TR T 10 fiFfe & wda B | = 7 3w
it 7 e 3 forg e mrn wmr v
(A) 8 fimz 20 T (B) 50 fre
») 12 fime (D) 19
41. WeRmdaeegdaris___ F@ame |
(A) TTT=-1 AB) TEa-7
(C) Twa-8 (D) TTE-4
42. weNER $ GHEN, FEl TH, JAEFEAR AR
~  apfoaeen § Feel FE & voer A fued ¥ fag
FFat 2016 T WA TR Z0 Y T LGk
e ot |
[A) g~ (B) Sfewdt
L. (o) &= e (p) Tmhwm
43. 0 H ¥ s < e 3 frea o 3 n Avft 7
(A) weirsit (B) w&
ot () T e (D) =<t
44, Freferias wregar Ht gl Fifig |
BANISH : NASHIB : : HARPED : 7 RAE ¥ P H
(A) DEPRAH _4B) RAEDPH
(C) ARHDEP (D) ¥ A HE v
/5. T afis yEW 8% e R W I 7
sﬁﬁs.ssoﬁqmmaﬁq’mww?/y‘f
~ ; 00 ’p/
) (A) %. 120 AB) ?. 1
{ (C) %. 65.60 (D) ¥. 166.40 .(,10
46, ¥ aTATTT e % forg T TS -
3 e geeait & o € areh sl ofK < % ol
C 2 0 ¥ fore et gfw A vew K T
)~ pmdammwdd? )';J’Q
% ) w07 (B) T 44 /P/,g/\"
' (C) T 52 (D) T 11 ﬂ
_ % :
L e
St A g:"ﬁ <
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47.

48.

49.

50.

51.
any selfishness or self-interest
(A) Retribution (B) Abomination
(C) Altruism (D) Animosity
52. Complete the following analogy.
AEI:EIM::I0U:?
(A) MSY (B) JKL
(C) EM (D) XYZ
53. A man travels 3 km towards East then 2 km
towards North and again 2 km towards East
and finally 14 km towards South. What is his
nearest distance from the starting point ?
P
0.‘:1 (A) 12 km (B) 13 km
y\ (C) 21 km (D) None of these
s
54. Value of M
‘. (0.5) +(0.4)
Q,i{ﬂ \ (A) 0.009 (B) 0.09
v €9 (D) 0.9
/GD\—Y 0 'b'“)
2 F1 80.0'\/ ')L [Q B
" " \
5 VE LS A

Who was the first Speaker of Haryana
Legislative Assembly (Vidhan Sabha) ?

(A) Shanno Devi ( ; Rao Biren er Singh
(C) Kanwar Pal None of the above

For KCI, NaCl and MgSO,, the van't Holff factor, |
approach _______ as the solution becomes
very dilute.

(A) 1 (B) 3

(C) 2 (D) 4

By default, each workbook in Microsoft-Excel
2003 contains worksheets that can be
accessed by sheet tabs.

(A) Four
(C) Three

(B) Two

(D) One

The farmers of Haryana State are motivated
to adopt fishing in

(A) Estuaries

(B) Salt water only

(C) Marine water

(D) Inland water and artificial pond

The principle of acting to benefit others without

Downloaaed rrom www.cclchapter.com
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47. wtcamon faurrs w1 gom wfe FH 9 7
(A) =it 2=h B) A fat fire
(C) Fat Ut (D) 370 # A i3
48. KCl, NaCl 3 MgSO, # feru, arwe &% 1, |
e it fyema srea e @
ST 2 |
(A) 1 (B) 3
) 2 (D) 4
49. Tewiece =9 @, UEFETER-TAE 2003 H T
e 1 iz e & i vz 2
31 vadE fra S A # |
(A) T (B) @
(C) o= (D) T=*

50. gﬁmmm%ﬁsmﬁq%f@aﬁﬁﬁmﬁm
e ¥ fau afm € 7

(A) TeR |
(B) e @R It

(C) Hgs urt
40) s v i Fhm e

51. far fomeft wamelowan a1 wand & q@dl F1 o1H TEAH

F fore & % = fagm
(A) wfersme (B) g
Je) T (D) awﬁ
52. ﬁqﬁﬁﬁaw@ml M
| AEI:EIM:: 10U ; -
45 MSY (B) JKL
(C) EIM (D) XYZ

53. T At 3 freifter @ it 3R s ? W
2 fepreirdfier e it 3R ST @ au E: 2 feedia
qd ) 3R ST R, 3EE 9 i § 14 feemia
Zféqor A 3R ST } | 7w el & s o1 T8

& fore Fraream g8t = &vft ?
(A) 12 Fererrdfte 4By 13 farainfit
(C) 21 freindiex (D) i A 1 7

sa. (05 -004)° g
(0.5)? +(0.4)

(A) 0.009 (B 0.09
C) 9 (D) 0.9 ',,
q’l""‘ )1 [s‘f
@ k 0

i



55. In which of the following the succession is | 55. Fr=ferfiga # @ fra stefta aaran & sTgFR g

starts in aquatic environment ? A2 ?
(A) Mesarch (B) Xerach (A) Hard ' (B) 3
i (C) Hydrarch (D) Lithosere ») AL (D) ot
! 56. Which of the following is not an input device ? 56. fr=feifiaa 8 8 #\-m1 v gaqe feamga @i R 7
(A) Printer (B) Mouse (A) e o&f) TIa 9%?’:*
(C) Scanner (D) Keyboard _F) B )e) A @M
57. is used to send message to several |  57. =1 wam |t ual i e fomn 8 wai
g addresses without showing everyone all the T e ¥ R R R |
ddresses. .
' ?A) Attach files (B) Courtesy Copy (A) Attach files (B) Courtesy Copy
(C) Subject (D) Blind Carbon Copy (C) Subject )B‘) Blind Carbon Copy
58. Who among the following is recently appointed |  58. F=fafaa # 4 el e @ o e Teem B,
as the CEO of Kaushal Rozgar Nigam, Haryana ? femon &1 yed FEeET s (<3, ) P g
T — R ? 9~ 90 Y
(A) Sharandeep Kaur Brar f-% (A) YUTEY T HR ( _ J d
(B) Durga Shakti Nagpal LRl (B) i wferd AMTITE q \ 2
(C) Smita Sabharwal (@) fem gt
(D) None of the above (D) JudE & & I T . %
i frafia @ F @ TER
. Which of the following currency has been 59. WEEHIT W
\ b = intr;?du(c)ed by the Irag Government to tackle foffga i d FE-d g & HE?
[ . inflation ? B) Pound Sterl (A) 2 238 mﬁq
(A) Toman ( ound Sterling ‘
(C) Rial (D) None of the above (©) fe (D) I § 8 08 T
ions i af 4 qfeit @ 3ivea 20 ¥ 3 I oF R
_ Ifthe average of 4 observations IS 20 and when . 1
o a constaqu' is added to each observation, - c @ s wagm # s m.%' W
the mean becomes 22. The value of ‘C'is 22 AT@R | 'C HFAAR
o Q (A) 6 @) 2
as P BT 8L A
( y —
61. Kamal is %qtir':e{%ldcér thani’efgst(ervaaﬁa g1, o T wE o, S i 112;“;
v " who is 2 years younger than her brother Vijay. AR, A SEUTT?@E | 2 fasra 10 AT,
( if Vijay is 10 years old, then age of Kamalis e H :é{m@nﬁ S
4 _ (A) 56 (
: L i e ~0) 40 ©) wHARET
(C) 40 yrs (D) none of these i NP
dering Law 62. UA WIEH FL ,
62. With respect to Money Laundering ' i
FERA stands for i i A) AR TS FRRTE TR
y (A) Financial Exchange RBQ'S‘fa“O“ c (B) R TR TR |®
7"{( (B) Foreign Exchange Regulation Act g e YA T 94 "
(C) Foreign Economics Regulation Act e mmﬂw ),
(D) Foreign Economics Registration Act AT - { Q
. K +7 o’ ‘2 D -9\ 57 ‘ m Wy '
8 N N+] W E ’('1/’3” O/ -’(1 — ;/_ /61{9-? =/
' | ( 10 3
O'? 'i Lf"?'r“{ lg(.-—-zq—j)j}{/L D? /L‘g}j/& " 7(.}.
. ; Yy 7 o ’_’L,,.. b £ j__,_.
ey B N7 ﬂ—q M= 8 &z //1

"LDo’v”\'}zﬁloaded fro



- S s
n a Fc,:ggaiﬁ code, APPLE is coded as 2':55 [ sa. gf% o P #re qeé APPLE &1 %Y 25 fir
is coded as 36, so what w the GRAPES &1
code of PAPAYA ? 1 I F1 8 7 OGN
(A) 36 (B) 49 36 AK) 36 (B) 49
(C) 4 (D) 81 (C) 4 (D) 81
Direction (Q. No. 64 and Q. No. 65) : Findthe | fadw (w.4. 64 3t w. 6. 65) : Pr=firfaa saen & =
missing number from the following series. T N dEmyE i 3
/ 4+ 1/
64. 7,12,19,28,7 | 64 7,12.1928.?
(A) 37 (B) 39 (A) 37 5 4B) 39
(C) 57 (D) 49 7 ©), 57 (D) 49
65. 8, 12,7, 64,128 | 6 17, 64,128
(A) 28 (B) 27 m? 28 (B) 27
(C) 15 (D) 36 (C) 15 (D) 36
66. Which of the following is the State bird of 5 66. Frffas # @ 7 -a efwmn #1 Teg v @ ?
pem Haryana ? Y wl (A) fafernafed afaern
X (A) Myliobatis aquila AL (8) TRt B
=%E (B) Acridotheres tristis [Py i) o5
(C) Corvus brachyrhynocus Yy L6 © FHRAG AR ¥ ﬁ
(D) Francolinus francolinus " P17 p) Feifema Fwiferra )
67. What is heterostemony ? Y+ Y| e7. Wiafiwnd? )ﬂj
(A) Stamens of different lengths Y ?, g (A) Tt s & g /
(B) 6 stamens equal length (B) T Se$ &% 6 HAT
(C) snamensanamedtopenanmhequanengm AG) THER G TaTs § IRGY & IS 8 ©
(D) 4 stamens equal length (D) A ST F 4 JohE
592 x 592 x 592 + 167 x 167 x 167
68. The value of ‘*y . 88.  §92x592-502x167+167x167 !
592 x 592 x 592 + 167 x 167 x 167 ‘GL @3
592><E;92 592x1s7+1(g:)r>:1227 RN A e -
}{;{ 3ok () 1184 \ " //"1 (C) 334 (D) 1184
§9. There are 5 students P, Q, R, S and T who are ‘] 69. P, Q,R, S 3K Tﬂﬁﬁﬁnﬁqméamaéﬁgl
sitting on a bench. T and Q are sitting together, TR Quewaa ¥ & T ol R TF 79 0
T and R are sitting together, P is on extreme pwalzﬁaq’k%a%aﬁtowaﬁﬁiﬂi
left and Q is second from extreme right. Who is WARASIE IPsRQFdud R dard ?
sitting between P and Q 7 RaRT
(A) Rand S (B) Rand T (A)Hxﬁ ‘(‘gosﬂm
(C) Rand P (D) QandR @R o
70. It focuses on the relationships among 70. € U GHIS % it sufwal & dfiE waul W
individuals within a society *Hiza &
(A) Symbolic interactionism (A) et 37a:fhaTaTa
(B) Conflict theory (B) wwd g
(C) Positivism — (C) Ja&ae T
(D) Structural functionalism s <
F18 -10-
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71. Figure (x) is embedded in any of the four

alternative figures. Find the alternative which
contains figure (x).

Vi T

Figure (x)
(A) ' (B)
E2;
£ 10 (D)

72. A theoretical approach that sees society as
a structure with interrelated parts designed
to meet the biological and social needs of
individuals that make up that society

(A) Idealism
(B) Interactionism
(C) Socialism

(D) Functionalism

73. The ‘Sariska’ Wildlife Sanctuary is located in

the State of
(A) Gujarat (B) Rajasthan
(C) Bihar (D) Uttar Pradesh

74. Inspector belongs to which among the rank
structure of Armed Police ?
(A) Section
(B) Company
(C) Platoon
(D) Battalion

Downloaded from www.cclchapter.com
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71.

s
-

72.

73.

74.

| 7 )4
< G

- MS
=
ﬁﬂ(xmﬁﬁq%{mﬁ%ﬁﬁﬁﬁﬁm@

Ferx 3 wfRe foran v 8 | et P 4 @ ) R
e vt fet (x) ) wfe e |

N

& (x)

& (B)

(C) (D)

s Agifam gfesiv it Gu i TH T & &9
¥ @ar 2, St 39 G W SR G Al Ht
I o arfres sretal &1 @@ F & forg s
T YOO TR WO E R, 38w ©
NG
(B) a:framamr

) TUTSETR
(D) SEFEaR
‘gftes’ Il AR =g ¥
Eockd

(A) TS|
(C) fom

A4B) TS
(D) ST W

mgﬁmiﬁwéﬁmﬁﬁﬁﬂﬁﬁmﬁ
e ?
(A) FFH
(B) Fuft
(C) =R
Py werferad



e

75. Choose the right option from alternatives for
question mark (?) in figure.

sasy by
¥
|

(A)

pi

(D)

Who invented water frame ?
(A) James Watt

(B) Richard Arkwright

(C) Sir Clement Clarke

(D) James Hargreaves

76.

ASEAN was established in
(A) 1967 (B) 1985
(C) 1975 (D) 1954

78. “World Health Day” is celebrated every year on

E¥T

AL
o E[gl (A) 22" September (B) 8" March |

(C) 7" April (D) None of the above

is soluble in fat and oil.
(B) Vitamin B,
(D) Vitamin C

79.
(A) Vitamin A
(C) Vitamin B,,

In Microsoft-PowerPoint, if you choose
a new presentation is displayed using the
design selected by the user, consisting of a
single slide.

(A) Status bar

(C) Design template
In a certain code, RAINBOW is coded as
ABINORW, then how is TRAIN coded in that

code ?

(A) RAINT

(B) Tool bar
(D) Menu bar

81.

(B) NIATR

CF - HAP—MS

freferfaa fst @ wea fog (2) &t fom ¥ R

(C) AINRT (D) ANITR

F18
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75.
3fea vaig s |
76. SrerEaTs et o anfasen e faman 7
(A) 99 TR
(B) f=d amahtige
(C) TR AL FeTeh
(D) S et
77. I (ASEAN) i 19T dgte |
) 1967 (B) 1985
) 1975 (D) 1954
78. ‘‘fava wren feam”’ wfa = ) T
e |
(A) 22 fadan (B) 8urd
(R) 7 ¥ (D) I | & i T
79. 1 3R A geeia ? |
(A) faarfim A () fazfim B,
(C) frfm B,, @) farfim C
80. WEIETTR-yaReETse §, afd oy T g,
" - et g g T R o 3w, foret
| e ege T B, e A wagfa weftfa &t 2 |
(A) ReE IR (B) T aR
(C) %m'a‘u@z 49) ﬂwr
2R v Rt Fe ow = ABINORW
e Rt T 2, a} TRAIN &
o stmam 7
A4A) RAINT (B) NIATR
(C) AINRT (D) ANITR J
Kb RAT T ?

ppo KW



85.

87.

89.

Mr. Vijay ranked 9" from the top and 38" from

the bottom in a class. How many students are
there in the class ?

(A) 48 (B) 46

(C) 47 (D) 45

HCF of two expressions a and b is 1. Their LCM is
1

A) — -

(A) == (B) a-b

(C) ab (D) a+b

The Headquarters of Lala Lajpat Rai University
of Veterinary and Animal Sciences in Haryana
is located in

(A) Jind (B
(C) Karnal (D‘

Hisar
None of the above

!-luman beings were, since long, not only
interested in knowing more about different
kinds of organisms and their diversities, but

branch of study was referred to as

(A) Surrections (B) Systems

(C) Systematics (D) Synergies

Nobel prize in Economic Science/Sveriges Riksbank

Prize in Economic Science — 2019 awarded for

(A) Empirical contributions to labour economics

(B) Methodological contributions to the
analysis of causal relationships

(C) Experimental approach to alleviating

global poverty
(D) None of the above

The slash and burn agriculture is known as
‘Milpa’ in

(A) Vietnam (B) Venzuela

(C) Indonesia (D) Mexico

In English alghabet, which is the 21% Ietlerfrqm

the left end
A) U (B) L
Ec% ¥ (D) V

The momentum of a body is increased by 25%.
The kinetic energy is increased by about

(A) 38% (B) 5%
(C) 56% (D) 25% .

Whatis the rank of India in the FIFA (Federation

Internationale de Football Association) Ranking
2021 7
(A) 108"
(C) 106"

-—

(B) 101*
(D) None of the above

-13-
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82.

83.

84.

87.

90.

1] \f\‘?

CF -HAP -MS
Mg o s d R A oI W AR Q
38 4 Y& W R} | e A et R Rremeff & 7
(A) 48 AB) 46
(C) 47 (D) 45
amzaaﬁmﬁ:ﬁmm1%|mw%
(A) = (B) a-b o@
@) ab (D) a+b 2
T & sen eistd T gyt 3t ay Ram

farvafee & geaea w:i @ ¥ 7

(A) Sfie ) femm
(€) FE (D) 37 & § = 7

T, S qOE A, 7 Faa fafie g & st s
7 fafagmatl & o i 9 & o Tad 3 afes
7% offa & el & an 3§ oft S = 4, e
) 39 TG Y FET I8

(A) aETH (B) =qaw

(C) Rr=itfeaa (D) TEam

syefyren & Frae qreR )/ sefeme | aftew e
qEER-2019 ¥ e fegrman |

LK) W e H SrgvEe ANRH

(B) siraes wat 3 forecown 3 faftrs dmem

(C) A et F Iwpe & Wi 3UT™
(D) Iwraa & & T :
AuieHFRA e $IWa
AT TR |
W Tz (B) TN
(C) ¥erfmn (D) AR .
3t aotren & ST SR Y 21 1 R FA-T R ?
A%) U “(B) L
© T (D) V
o fire = w3 25% g1 e o & | o i
T A
(A) 38% (B) 5%
(C) 56% AD) 25%
ST (e Fecr € gt ) T
2021ﬁmmwm=raﬁqwm%; .
(A) 108731 AB) 101
F18
II &Y == I’jgr( )
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Direction (Q. No. 91 and Q. No. 92) : Fill In the blanks
with appropriate prepositions from the alternatives

_English Language

given below them.

91.

92.

Direction (Q. No. 93 and Q. No. 94) : Fill in the blanks
with appropriate articles from the alternatives given

| saw him the crowd.

(A) on :

(B) among

(C) besides EI$
. AL

(P) in Ok210|

They found gold coins
(A) through

(B) beneath

(Q) into

(D) across

the mattress.

below them.

93.

He is LL.B.

4A) no article required

95.

F18

(B) the
(C) an
(D) a

boy sings a melodious song at the
crack of dawn.
(A) No article required
(B) An
€) Neither (B) nor (D)
(D) A

Fill up the blank in the following sentence using
the right forms of the word given in bracket.

The boys were ridiculing him for his
(coward).

(A) Cowardy

(B) Coward

(C) Cowardice

() Cowardly

96.

97.

98.

99.

100.

CF - HAP - MS

et W
‘Je-ae YR HI QS |
(A) fergeft
4B) TR
(C) wya
(D) dcam
‘e FAETR R
(A) drE
(B) IFR
(€) &

(D) ¥ @ F§ T

‘Y e EfeTEe_ ®)
(A) srquferEt

(B) srqufe

(C) srqufem

(D) 79 & #r§ el

sy w=idd@dwd
(P T

(B) 9 @J%
(C) faesh e
(D) ¥ & = el

It v =t foran & wgw fafy fagl & swaftua
9 H FEd ¢ |

(A) =X

op =

(C) Tt

(D) 38 & s 7
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